&) REEH L
\ANA HEOEEYEESLDBE (1)

HENEFYE2E->THELT T, IKHTIIEIBHEEEXTIL LD,
25xX32=25x%( X 8) 24 x5 =( X2)X5
= (25X )X 8 = X(2X5)
| 2X3+38%X3=( +38) X3 64X T-44XT =( —44) X7

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



(&) RrHE ®omoEW
\ANA HEOEFEYEESLDTEI (2)

HENTF Y 2 FE->THEL T T, IZHTIIEBHEEEIIL LD,
25X 28 =25X%( X 7) 28X 5 =( X2)X5
= (25X ) X7 = X(2X5)
|6 X 4+24 X4 =( +24) X4 38X6-18%xX6=( —|8) X6

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



&) REEH L
\ANA HEOEFEYEESEDBE (3)

HENDTIY2FE->TEHEL T T, IZHTILFEFBEEEZZIL L,
25X 24 =25X%( X6) 34X%X5 =( X2 )X5
= (25X ) X 6 = X(2X5)
- X 6 = X |0
28X 6+12X6=( +12) X6 41 X3-31 X3 =( —31) X3

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



(&) RrHE ®omoEW
\ANA HEOEZYEESLDTE (4)

HENTF Y 2 FE->THEL T T, IZHTILFEFBEEEZZIL L,
25X 8 =25X%( X 2) 48%X5 =( X2)X5
= (25X )X 2 = X(2X5)
= X 2 = X 10
283X 4422 X 4= +22) X4 34XT-14XT7=( — 14) X7

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



&) REEH L
\ANA HEOEEYEESLDE (5)

HENTF Y 2 FE->THEL T T, IZHTIIEBHEEEIIL LD,
25X |6 =25X( X 4) 42x5 =( X2)X5
= (25X ) X 4 = X(2X%X5)
52X5+38X5=( +38) X5 61 X8-31X8=( —31) X8

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



&) REEH L
\ANA HEOEFZYEESLDE (6)

HEn=F Y 2{E->-THELT T, ICHhTITEEHEEETIL LD,
25X 12=25X( X 3) 36 X5 =( X2 )X5
= (25X ) X3 = X(2X5)
= X 3 = X 10
42X34+18%x3=( +18) X3 64X 4-24 X4 =( —24) X4
= X3 = X 4

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



&) REEH L
\AA HEOEZYEESEDBE (T)

HENEFYE2E->THELT T, IKHTIIEIBHEEEXTIL LD,
25X 36 =25 X ( X qg) 46 X5 =( X2)X5
= (25X )X qg = X(2X%X5)
33X3+47X3=( +47) X3 86 X6-46%X6 = —46) X6

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



&) REEH L
\ANA HEOEFZYEESLDE (8)

HEDEFYEFE->THELF T, IZHTILFEFEHEESIFIL LI,
25X 20=25X%( X5) 84 x5 =( X2)X5
= (25X )X5 = X(2X%X5)
= X 5 = X 10
67TX4+13X4=( +13) X4 T2XT7-52X7=( —52) X7

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



.\g%.‘ R ] 3 A |
" HEOZVEESRABE (1)
HENEZFY 2E-THELET, ILHTIEEBHEE=Z L &I,
25X32=25%X( 4 X8) 24X5=( 12 X2)X5
=(25X 4 )X8 = 12 X(2X5)
= 100 X8 = 12 XxI0
= 800 =120
12X3+38%x3=( |2 +38)X%X3 64XT-44XT=( 64 —44)XT
= 50 X3 = 20 X7
= 150 = 140

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



.\g%.‘ A EEE 3 )
WA HEOZVEESRABEI (2)
BAENETIYEFE-S>TEHELET, ICHTIEZTHHEETIL L,
25%X28=25%x( 4 XT7) 28X5=( 14 xX2)X5
=(25X 4 )X17 = |4 X(2X5)
= |00 X7 = |4 XI10
= 700 = 140
|6 X4+24X4=( |16 +24)X4 38X6-18X6=( 38 —18)X6
= 40 X4 = 20 X6
=160 = 120

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



.\g%.‘ A EEE 3 )
" HEOZVEESRLBEI (3)
RN TTYEES>TEHELZ T, ICHTIEZTHHEETIL L,
25X24=25%X( 4 X6) 34x5=( 17 Xx2)X5
=(25%X 4 )X6 = |7 X(2X5)
= 100 X6 = |7 XI10
= 600 = 170
28X 6+12X6=( 28 +12)X6 41%x3-31Xx3=( 41 —=31)X3
= 40 X6 = 10 X3
=| 240 = 30

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



.\g%.‘ A EEE 3 )
" HEOZVEESRAGEI (4)
BAENETIYEFE-S>TEHELET, ICHTIEZTHHEETIL L,
25X8=25%X( 4 X2) 48xX5=( 24 X2)X5
=(25X 4 )X2 = 24 X(2X5)
= 100 X2 = 24 X0
= 200 = 240
28X 4+422X4=( 28 +22)X4 34X T-14XT=(C 34 —14)X7
= 50 X4 = 20 X7
= 200 =140

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



.\g%.‘ A EEE 3 A
" HEOZVEESRDGEI (5)
RN TTYEES>TEHELZ T, ICHTIEZTHHEETIL L,
25X 16 =25X( 4 X4) 42x5=( 21 X2)X5
=(25X 4 X4 = 21 X%X(2xX5)
= 100 X4 = 21 XI10
= 400 = 210
52X5+38X5=( 52 +38)X5 61 X8-31X8=( 61 —3I1)X8
= 90 X5 = 30 X8
=450 =240

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



&) REEH L
\ANA HEOEFZYEESLDE (6)

HEDEFYEFE->THELF T, IZHTILFEFEHEESIFIL LI,
25X 12=25X( 4 X3) 36 X5=( |18 X2)X5
=(25%X 4 )X3 = |8 X(2X5)
= |00 X3 = |8 X110
= 300 = 180
42X3+18X3=( 42 +18)X3 64X 4-24X4=( 64 —24)X4
= 60 X3 = 40 X4

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



&) REEH L
\AA HEOEZYEESEDBE (T)

HEDEFYEFE->THELF T, IZHTITEEHEZETIL &£ 9,
25%X36=25%X( 4 X9) 46 X5 =( 23 xX2)X5
=(25X 4 )XQ9 = 23 x(2x5)
= 100 X9 = 23 X110
= 900 =230
33X3+47%Xx3=( 33 +47)X3 B6X6-46X6=( 86 —46)X6
= 80 X3 = 40 X6
= 240 = 240

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,



.\g%.‘ A EEE 3 )
" HEOZVEESRLGEI (8)
BAENETIYEFE-S>TEHELET, ICHTIEZTHHEETIL L,
25X20=25%X( 4 X5) 84XxX5=( 42 X2)X5
=(25X 4 )X5 = 42 X(2X5)
= 100 X5 = 42 X110
= 500 =420
67X4+13X4=(( 67 +13)X4 T2X7-52XT7=(C 72 —52)X7
= 80 X4 = 20 X7
=320 =140

. SR INFE - RRER oRRFE T VRS

BizE com ETOFBTU MWebH+ b SENTYDI>O—- RTEXT,
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